Rectilinear Motion / ﬂ—

Il High Level Problems (HLP)

1.

A

fedl & (highway) R fIg5 A R Red &R &1 Fsa I (T R &7 (field) 7 R g B R e
Sl B 9@, UgaT B | I8 Udl B f R &3 § "@sd (highway) & aEa n AT (times) 6 Frerdl B |

D9 &l R Uscl BR B G I &F (field) F1 IR s A1 AT ?

Ao C D

(

5

X 3 B S QR § e B B AT v = oi/x B AR uRaffa &1 ¥ OE o U oS
i 21 98 A gU a5 faft &vr t = 0 R Fun, g x = 0, R Rerd o, & a1

(a) 79 W R $U1 & 997 9 @Rl

(b) foTa™ FHI H§ BT U BT YAH s HieR S I HIAT & S GAT H B I A7 9 |

T4 U& Hisdl Ade Bl J<INRG & folg 9ol FMAT & A1 SHBI 397 HB APIS & oIy AADR AbT DI HW
DI IR ART HAT 8| $89 S & 916 Abe HB X D oY W DI AR A FRaT © AR R =
fIRAT & R BT 8 AR RT & BB G99 918 WIS Yo Sl & 9l b DI dfad B A1 RA w®
T W AT ¥ | Aied Jdbe W 9T B Aiws foy o § S RETgER welid 2| 9 offest @ w §
EERSRSEICESI NI

9T (ft/s)
Velocity (ft/s)

N
o
o

150

100

e I AT

0 Time after
launch (s)

-50

-100
0 2 4 6 8 10 12

(a) <19 S 9 a1 1, T4 Adbe BT 971 S BN |

(b) o9 fHaw JHvs db STl ?

(c) Af¥HTH Hds b Uga W Adhe §RI o1 T FHI FIT 8RN T TG FHBT I T AT |
(d) IRRE H9 Fell V@ S9 FHI e ot 97 | R =71 o |

(e) RIE & T A Ugel DT (ol ax qPb [RT AT ?

(f) Ade BT @O AfAHTH Hg o ?

(9) I TR H9 o1 Ud IS 99 1 o ? (Fidhead! Yorie § IR AIfg) ?

& 1072 fhdlo SMM &1 HUT x-31& & QR I F(X) =— 2K2
X

M?8| FHIt=0WR Ig x = 1.0 AIeX W & TqAT Y8l W TP 7 YA & | T BRY |
(i) 19 I8 x = 0.50 Hlex W Yg=[l & d9 99 &1 81T |
(i) 98 99 919 I 99 I X = 0.25 HieX W UgAd 2B | [JEE 1998, 8]

& y9Tg § TIfd HRaT §, 9igl K = 102 N

Reson =) nce@ Reg. & Corp. Office : CG Tower, A-46 & 52, IPIA, Near City Mall, Jhalawar Road, Kota (Raj.) — 324005
h Website : www.resonance.ac.in | E-mail : contact@resonance.ac.in
Educating for better tomorrow ! e

Toll Free : 1800 258 5555 | CIN : UB0302RJ2007PLC024029



mailto:contact@resonance.ac.in
http://www.resonance.ac.in/reso/results/jee-main-2014.aspx

Rectilinear Motion / ﬂ—
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Rectilinear Motion

Bl HLP Answers

1.

A
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(a) 190 ft/s (b)2s (c) 8s, 0ft/s (d) 54/5=10.8 s, 90 ft/s
(e) 14/5=2.8s (f) 7 &= & 2 Ao T AfTHaH @ROT BT |
(g) 2 Ao 9 54/5=10.8 Vo, & §I7 fId w1 — 32 ft/s2 2 |
() V =-17 m/s (i)t = g + ? 5. 4 sec 6. 14/11
-
Area of v-t curve is displacment which is equal to 2 V 4
%XVWM:Z VA —
Vmax = 1

Also t1+t2=4

Vmax+vmax .y - 1 +£ E 4 0 t, t, 4
X y Xy

Alter :
Given, S1+S:=2 L 0)

tn+t=4 (i)
For motion from A to C: V=V =0

u=0 C V2

From, V=u+at A<e—S—><—S—B

V=0 +xt, ~——2km——>

1 2

t1 = VIX
From V2=u?+ 2as

VZ=0+2xS1 = S1 = V2/2x
Similarly for motion from C to B, t2=VIy ; S2=V?2y
From eqn.(i)

2 2 2

V—+V—:2 V. 1+1 =2 (iii)

2x 2y 2\ x vy
From eqn. (ii)

V (1 + lj =4 (iv)

Xy
- . 11
Solving (iii) & (iv) we get, —+= =4
Xy
t

(a) ha = 9?0 (b) hr = % ot (t + to) 0. 3
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